Name

ICP factoring practice when A=1

11-30-15

Each of these is factorable PractlceI Practlce| Practice!

1

21

x’+21x+20 (x 1) (¥4 20) 2-16x+48 /% E ‘-‘“; [ — Y ~
2 [ 21x38 [y ) (et 2 77 e ( % —1() { X+ <
3 | x%421x+54 /v s 2\ (}/”‘f‘ X 23 | % 11x+10 [ i V —(0)
4 | %21x468 (e 13 (¢ +Y 24 1,2 11x+18 ¢ s q\ ( i -
5 | x*+21x+80 ( Xt }0)( K {_q 25 | y%.5x.24 f"}{" 21 (% ¢ 3)
6 | x’+14x-15 (X 1 5\( _X‘“( 26 | x*3x-28 ( X “WL\) ( % ,\,(,(
TP ) k)| [P | (xS (x F
8 | x’+10x-39 (>( i \'5\)()( -2 28 | x%6x45 \ ( 5 —
9 | x*+8x-48 o )(7(_‘ ) 29 | x’6x+8 ; \ ,,'f‘.‘;l {
10 [ 416x455 (x 1 0k £5) 30 | .6x49 (% %) \/‘ =3 ;
11 | 280 ( X £ (0) {‘}( ~ ) 31 | x%42x8 7{ o) Fi 27
12 | x%47x-18 ’X cq) (V <2 32 | 445 ( S 46) ( Y ~ }
13 | \Pi1xe24 f"rl-i(n.g.’? N (}( ) 83 | Zanes (X=30) K. e ()
14 |, %411x428 (}, L) X ¥ 4*} 34 | 4 16x+39 (,X 3 | (5( )
15 | X’4x-30 X { b) ( (x- \ 35 | x*-17x-38 ( 4/ / ( 2\3
6 | Peans {,-:\K 45 !( X i } % | Pieens ( (= 1% J)( )( +
17 |, 2i2xs >( i §/W 5 @) 37 | x’13x-68 fr i ;:; f (N L)
18 | 2o }( £3) (-3 ) 8 |10 | K — (gg// X5 “'~}
19 | Zrons < x = 39 |y 16x+15 ( K — | \1/ € ;
20 | \246x45 \:{ [ £¢ 40 |2 12x28 _/X K=y 0 K 4 2,\




FOIL Practice

Binomial Binomial Quadratic | Linear Linear Constant | Simplified product
factor 1 factor 2 term term 1 term 2
P@eD) (042) ) 257 tx [€2x |t 2 | 23t
2 [(2x+1) | (3x+2) e w3y |+ kx| T2 G 2+ x t2
|l [Ba2) | gy 43 app| 12 | TRHT +3
to2xd) (2x+1)‘ Uy | —2X | K| —{ b = —1 = byt
> 1(2x+1) |(2x+1) bty 25 | w2x | 7 {?;%.%Z,%}{_ £ (
6 A -} ~ -y 2 -~
(2x-3) | (x+3) LY —3x_ |+bK 1 2% 3% -9
71 (2x+4) | (x+4) Qy\c’— MX e x| “p -9*}&2 £ 12x ¥ (6
*[(263) |(2) |2x? |3k | U] 4k | 2 th
> | (2x+1) | (x-5) 2% |Alx Mok | =S 2x “ 9% ~§
B L i O 79 7 S L I L0 s o7 s
11 (8X+1) (5X+2) L{O}(Z 4(6'}{\ 4%;& ..Jr :4__ !LTQJ‘ 2 4 ;\ﬂ 42
12 (6X—1) (5X+2) %O%:/, o f;}f 53% [ 2:}[ - ‘j Q!f(;’j‘*‘r*”‘;ﬁ- ‘)‘ %
P (7x1) | (4x-3) 28x* —Yx | 22X A3 28r% —25% +3
(o) 1(3%2) | 2| alax |~tsk| =8 | 2B by -k |
= (5)(‘2) (5x+2) 2&;{%‘_ ,i)\ A Ui C‘f 2S _‘h B ,‘( ~ ng?'fox"'{
16 - N '
(5x+1) | (10x+2) Sok‘z o [40x | <2 SOK% +20y 2
i 3x-1 X"12 2 - s 2‘___ = 7 iy
(3x-1) |(x-12) | 2, (x_|-36x| +12 | 3x"-33x +1>
®13x#5) (6x+7) | (B | 430k | walx |43 | LKAk €3S
P [(6xT) | BxS) ) KT |45 | 300 | 1S | ki HBOY 3
20 1
|(8x3) | (7x45) | SBi” | x| 0K | (S | St Y ~(S




Name

Examples

ICP Factoring using the AC Method 11-30-15

Quadratic term Linear term 1

2
X +4x

Factored form of the first two terms

X(x+4)

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

constant

+8

Linear term 2

+2X

Factored form of the last two terms

+2(x+4)
(x+4)(x+2)= X°+AX+2X+8
= x>+6x+8

Quadratic term Linear term 1

2
X +5x

Factored form of the first two terms

X(x+5)

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

constant

+8

Linear term 2

+2X

Factored form of the last two terms
+2(x+4)

X2+5x+2x+8 = X +7x+8

this is NOT FACTORABLE

Quadratic term Linearterm 1

2
X -4x

Factored form of the first two terms

X(x-4)

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

constant

4

Linear term 2

+1x

Factored form of the last two terms

+1(x-4)
(x-4)(x+1)= X2-Ax+1x-4
= x°-3x-4

Quadratic term Linear term 1

2
X +2X

Factored form of the first two terms

X(x+2)

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

constant

-10

Linear term 2

-5x

Factored forrﬁ of the last two terms

-5(x+2)
(x+2)(x-5)= x*+2x-5x-10
= x*-3x-10

This method of factoring is called the AC method, we have skipped the “hard” step, we’ll get to that step after you can

takeit from the second step.




If not factorable state so

Quadratic term Linear term 1
2

X +6Xx

Factored form of the first two terms

(i +6)

Linear term 2 constant

+3x

Factored form of the last two terms

£3(xtH)

+18

IF there is a BINOMIAL in common, then factor it OUT - \!

’ AL 2
Keep all of the rest of the terms in a single parentheses <X "HJ \ k?( 2
Quadratic term Linear term 1 Linear term 2 constant

p
X +4x

Factored form of the first two terms
x (x4

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

+6X

Factored form of the last two terms

6 (x el)
(x4 UU( ol b

+24

Quadratic term Linear term 1

2
X -bXx

Factored form of the first two terms

¥ F LY
( P P
iy
. . b

IE there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

Linear term 2

+8x

Factored form of the last two terms
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constant
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-48

Quadratic term Linear term 1

2
X -6X
Factored form of the first two terms
Yoo e o F X

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

Linear term 2 constant

-6Xx

Factored form of the last two terms

al' ;1 ;
e iL@‘} ‘\ X i ;

Y ,r' Fd
{ ;;{' t gl

+36

&

Quadratic term Linear term 1
2

X +3x

Factored form of the first two terms
L Y
>(" (w2
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IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single parentheses

Linear term 2 constant

-3X

Factored form of the last two terms
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Name

If not factorable state so

ICP Factoring using the AC Method part 2 11-30-15

List AC x*

x°-14x-32

List all of the ways to get AC x°

List all the ways factors of AC x*
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s Vb ) | Ly 4 2y
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Quadratic term Linear term 1 Linear term 2 constant
2— —
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X

Factored form of the first two terms

sl
XX ({9\
IF there is a BINOMIAL in common, then factor it OUT

Keep all of the rest of the terms in a single
parentheses

Factored form of the last two terms

£2 (- )
(x4e) (0 12)

2 List AC x* List all of the ways to get AC x° | List all the ways factors of AC x°
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Quadratic term Linear term 1 Linear term 2 constant

>z —5 K

Factored form of the first two terms

x (%=

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single

o

O

Factored form of the Iast two terms

-§ x5
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parentheses
2 List AC x* List all of the ways to get AC x* | List all the ways factors of AC x*
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Quadratic term Linear term 1 Linear term 2 constant

Z

~b X

Factored form of the first two terms

X (X5

IF there is a BINOMIAL in common, then factor it QUT
Keep all of the rest of the terms in a single
parentheses

+1x

~Cy

Factored form of the last two terms

(x-¢ (xt4)




If not factorable state so

List AC x°

2
x“-12x+35 g

List all the ways factors of AC x*
can add to Bx

List all of the ways to get AC x*
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Quadratic term Linear term 1 Linear term 2 constant

2
X + 5y
Factored form of the first two terms
v 4\
ﬁ{, '{ X C} )

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single
parentheses

£ 31X +35

Factored form of the last two terms
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2 List AC x* ist all of the ways to.get AC x*, | List all the ways factors of AC X
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Quadratic term Linear term 1 Linear term 2 constant
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Factored form of the first two terms

»~(k+2X)

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single
parentheses

Factored form of the last two terms
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Quadratic term Linear term 1 Linear term 2 constant

Factored form of the first two terms

IF there is a BINOMIAL in common, then factor it OUT
Keep all of the rest of the terms in a single
parentheses

Factored form of the last two terms
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